1.1 Intro to Rational Numbers

September 6, 2018 6:34 PM

1.1- INTRODUCTION TO RATIONAL NUMBERS

Classification of Numbers (Natural, Whaole, Integers, Rational, Irrational, Real) -
s:/iwww.youtube.com/watch ?v=vbPUS-0Wbv4

htt

While watching the video £, complete the following table:
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Natural numbers N Crc\’u é-ecPW\O\LS . G 2€cG 1, 2,%,4 l..,etc
- O v\copd'\ veS
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For each of the numbers below check all the boxes that describe the number:
— vepanna
X1 2 et 1
8 -100 4.31 3 0 i3 -1.7 _SZ
Natural Number \/ DS < X X X X ><
Whole Number V4 PN X > \/ > > X
Integers vV |V | X | X v x X | x
_Rational Number |/ \/ \/ \/ \/ >< \/ \/
(K Real Number N4 N~ o | |



_Rational Number \/ \/ \/

Real Number < V4 N4

Irrational Number | < XK x

ember the analogy from the video...

XS
X| [N\
X
XN
X\\

If a person is in Tokyo, does that mean that person
is also in Japan? \l
€D

And if this person is in Japan, does that mean they
are also in Asia? \/ e 5

(Tok/0) (Aga)
This means that numbers in a smaller set are always included in the farger set

Ex. A natural number like 3, is also an integer.
R ST o oo

Again...remember the analogy from the video...

If a person is in Japan, does that mean they are only in Tokyo? No,

they could be in Osaka, or anywhere else!
——

BUT! A number in the larger set is NOT necessarily included in the smaller set,
Ex. And rational number like § is NOT an integer. ,7

TRY THIS: L Keoaosa whay -

\ nomb., coold e irrahcnel, ; "k?r
True oA real number is always a whole number. € _ Honad vo "o .
@. False? A natural number is always a rational numbef. f\O\“' nomber \, 2?’;'¢+C =Yoo
CTruedr False? An integer is always a rational number.

integers> are included yn ratiened numio .
True orFalse?DA real number is always an integer.

True oAn integer is always a natural n r.

False? An irrational number is always a real number.
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Rational Numbers:

e any number that can be writfen as a fraction

with an integer numerator and non-zero /—(-lf;?(—) e L
integer denominator. ——— _ Integers -
( 64-0?) ———N q,% ~ i-: ancy |\ (\\Q%QV
s Decimals that repeat or terminate K_/ e xXCy’ -\- @)
€6 2161 o 1.3 PXCep T
= since every __\ n"\'f O§/ can be written as a fraction with denominator 1,
— \
all integers are also considered r elNcaa & numboers . \_Q_%e% . _"\_
Just as integers have a pairing numbers of opposite sign (ie. 5 and -5), rational numbers ﬁ _\_
have pairing numbers (ie. %and'—%) does nf@
V @ QZU
Negative fractions can have the negative sign appear 3 different ways:
PN ——
22
3733

Reviewing Place Value

sands

iredths

sandths
‘housandths

ired thousandths
nillionths

ired millionths

ired thousands
nths

ired millions
nillions

ns
housands
ireds

; (ones)

mal

s
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you have 3 tens, or 30O . A 5in the tenths position means there are 5 tenths, or /ﬁ

1o of 02 . 1 ex0OS areusedtofil spaces between the digits we

have and the decimal place, both before and after the decimal. Notice that going up from

o

i ace \fa\glgshow us what each number is worth: a 3 in the tens spot means @
[

zero we have units (ones), tens, hundreds... going down from the decimal there is no
“units” place, and all the places end with “FTNS™ tenths, hundredths, thousandths.
- Pary R ol aavolbe
Example 1: In the number 63,407.218; find the place value of each of the following digits:
a) 7 nr\iJrS (ov\€53 d) 6 ‘\'CY'\ \\“V\OUBCU‘\CL
b) 0 +e NS o 3 _ N ousarald

o1 hhundred “ﬁ ne_ Y\ oo%anA‘W\_____S

3
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Mixed Fractions «- Improper Fractions WO‘HO m 5ry\qj/{~e{
3 ample #1: Write each mixed fractlor] as an imprope éraction
+ & = %’W
1 32 _\_\_ YD ’.q,{ Q ~ 92_9
3 l& g CL? - ?’
AxH=F ©)

2%3°
How do you convert a fraction to a decimal? (write each number to 3 decimal places) 4 ( « O'H
*'D\u\dﬁ *Y\ﬁnume,ra'abr cnomM\NAICSy” (Yop - Dotom

3 D=50. ‘000 10 .o—j\(a:\/

Lool: 16
K \(g O ‘—l?)‘-i \oezné.e_ <
20.- 4q5% S\'O\U\
M(,,ranmgle#z Wnte each |mproperfraction asaw Y ha o UfP

Yo 2 ) 0 . Q . SAMNL

= -« 7 < =y - _ &
AR WOV LY.
V2 94) 4
O a)d -3

- : )
/L‘IL—(((W‘("""Aw3 ~_"._2,’I;OII"?-"'
Example #3: Wnt tween each pair of numbers. - ‘?‘YO;(.‘\W\C"\ S

3% pab @) 12520326 1.25 2,.2% b) 025 and-0.26 5, O cdecimal s

-7 (@) _ 6.2 _0260 _ -x
’ <—L—:_’:C,,‘:’:?_’ | _|___4.,f_———’-*+’—\ _';rc? Tl r o inake
)

e ;93&90,1."
) % and Y d) % and /‘/“ o. 244
c) -¥2 and Y —Yzan 4 v = O
2\ -1/2 o Yy \/a l\ 050 /L\ 2%)
‘ o A y

Section 1.1 pg 11

'/ -o4
J
@ - 0 o)
Questions #1-4

Hw mb M+wW 210-4 vy \OYH
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Example #4: ﬂ/e& = ﬂer@“h * ‘—u; é\H')

How do we calculate thegre-a\g:/\w/s&re/?) ,,Q ﬁ—, /Q - \A)
(s
) (o( 5 2

w (S A= 5.5:=9
A square trampoline has a side length of 3.7 m\}‘ ‘oe;h»ter\ % and )
Y
Estimate and then calculate the area of the trampoline.
« 532 539 —_47= - lb
. =+
| A
o 7\ 01 23US 618 /01" RIBMISIIT -.n- - -
—
ER! 1T
Area- (537 33 B2 M
If we know the area of a square trampoline, how can we find the length of one side o
trampoline?

\& A - 5‘% Fnen 5=%‘H

Ysavared” ‘savare . 9 =3 since3’=
\\——V’\ Yo 16 = 4 since 42 =
\oecw%ﬁ'- = .25 = 5 since5°
— . . LVDT .36 = 6 since 6°
Con mate % conich O'& 49 = 7 since 72
’\DQ(CeC‘\' Sauatre Vec C\' 64 = & since 8°

1S5 Yne area 81 = 9 since 9% =\81
c\oseS *\»O’?. SGUONS J100 = 10 since 102 100%0

If a square trampoline has an area of 13.388 m?, what is the length of one side of the

tren
trampoline?

* Fhot thespide
\

7
N
9 10 1l

a0 Onr st e s et
7 * ) v 1| ) L
T 1%.23%

62
@i 125

LIR

PPIOR B 13.288  check:s= 13257
Math9(Zukowski)ch.i %(gx‘Sb - \a 'qb {3 - 5‘ bb}
e ——————
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Example #5:

w\aﬂeﬂ' —>Ng é\'
Order the following numbers from least to greatest. O \O\( 5‘\' C)-> o? 5
Record th b ber li
ecord t e,nu.m‘ ers on a number line. @ 5mb§€$3r )’\UW\W CW 5¥O> 3 2

CJ \a,c_Q O 1ero Cor \«u'>

o Lred i3 Coxst e B 7036
-34 0 ‘ -0. (oof 13 25
— ‘

TT',‘.,u&b
/045\3 E \ourgbgrf’“o‘
2-¥° ¢

-25 03
b -3 5 -10 11 7 8
) 8’ 9. 4’ 4! 100 3 —
0.5 -1.25 ab
two methods: (i) get common denominator and then compafe Cm re ooor\’.\
Ou) change to decimal form then compare

® \arope s+@7 R GG
C)\a(cod‘\‘ 67 -2.5

0 —

-—26 -1.25% 0.75 \ 6.5 0.3 .o
R B B [ I R 1‘

) ‘ T T I T T T l T l T l T T ‘ T T T r\ )
-6 5 3 15 3 =
4 4 g G 10 3

10 3 2
c)1.13, = ? 3.4, =2.7, ? -23 (*change fractions to decimals)
J L N_oay lorgest @ - %
_7.7‘% o4’

\arcyzs*‘(:) - 34

(Section 1.1 pg. 11-13 )
Questions # Sab, 6cd, 7ab, 8, 9ab, 10a,/13, 18, 20,
21 **extension** 23 & 24 T

N S + ] 6
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